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MATHCMATICS

By Pradeep Sir

Q. 1) The average monthly expenditure of a family was
Rs.2,500 during the first 4 months, Rs.2,750 during the

next 5 months and Rs.3,550 during the last 3 months of a

\/V L~ “ _ v~ year. If the total saving during the year was Rs.5,500,
l o, 0004 |3350 410 L3P T 550, hat was the average monthly income of the family?
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Hig 3, 4Tl ddd 5,50
A 3‘1 0 00 T 3ftaa anuﬁram? =
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-~ Q. 2) Three boys, on an average, are 25 years old, and
26 = Y5 % their age are in the ratio of 3:5:7. What is the age of
3_’_:_______:—-—-—"7 youngest
& 31 3g 25 Y § 3R ITP! STg HT U
_— 3 5: 7 21 HEA DI ASP P 1Y FId DT
s R

\_'/ (c) 21 years
(d) 24 years
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Q. 3) There are 160 multiple choice questions in a test. 4
L marks are allotted for a correct answer and 1 mark is

COWM TJ\'LCMJ' deducted for a wrong answer or un-attempted question
P L m— from the total score of correct answers. If a candidate
scored 400 marks in the test, how many questions dld he

4 y - 'Ef = ans\:tt;_e‘f{t co%ect 318 »
TP WIET H 16 vy g1 T8l IW f%rqm
N / «Hﬁ%mwm wx&sﬁ\v
Yoo = el P! # |_1 3@ e forar wrar 71 afg
fedt snadf T wlten # 400 3@ wrw fdg, @ 39 fFaa

\ / TR TwRE

(a) 110 —

Q/
(d) 120
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Q. 4) Anwesha’s marks in a class test of Sanskrit were
incorrectly entered as 99 instead of 66. If there are 55
students in the class, then what is the increment in the
average marks of the class in Sanskrit because of this

ing error?
66 — a1 Fera ¥ T v vl § o= ¥ sy T 2 o

L/ Wmssaﬁf?ﬂ nqz)luﬁ.afanﬂss g,
%mmﬁ_ﬁrtmmﬁm
—~ Rk
43 30.b g
7 %’ (a) 0.2

(b) 0.8
A 5 é,.r (c) 0.4

(d) 0.6
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St =60 Q. 6) In a class, there are 60 students. The average weight
of the entire class is 42 kg. If there are 36 boys in the

class and the average wenght of all the boys is 50 kg,
then what is the average weight (in kg) of all the girls?

US P& 7 60 faamdf BT BT A qoi 42

|
T ;| it AT T«
; Tan 3%?1 9 aaﬁzﬁm_ﬁ am%?
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Q. 7) The average temperature of a city for the first four
days of the week is 25°C, and the average temperature

2 for the last four days is 30°C. If the average temperature
< for the entire week is 27°C, then what is the temperature
L\-ﬁ.‘ll; Y oo onthefourtal;dggy% -
Ud {4 e aR el & US WY $1 A4
Ur 30 20 aTqHTE 25°C 8, 3R Sifaw IR &A1 &1 sitwa argwm= 30°C
20 21 afe Q¥ wwre &1 oftwa argeTE 27°C 8, &t 9 @ @
= e R S
S T
3\ '
(c) 29°C
2—' 4 \1 (d) 28°C
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Q. 8) The average weight of 5 boys is increased by 9 kg
when one of them, whose weight is 39 kg, is replaced by

another boy. What is the weight (in kg) of the new boy?

AT g 3 H |
A ﬁmggrﬁ a:'# 39 f%?(g)_; g’f@agg%a‘\lﬁ%a%aﬁm mqgl
294 SK9 e jee g~ ol
N 88
(d)84
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Q. 9) FFind thesum of 3 + 3% + 33 .. + 38
.. 'C

'd '
3 + 32 + 33 +38 BTN ITd B
h;, ;:E |  —

(b) 6560
(c) 3280
(d) 6561
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Q. 10) Class X has 45 students scoring average marks of
30 and class Y has 35 students scoring average marks of
18. Find the average marks of the students of both

classes together. L— .
mnxﬁug‘énﬂg’f#suﬁmmmm%ah?mn
Yy ¥ 3 & Ad 3P 18 §1 Sl damel &

, et & 3% Td Difeg|

a) 25 m—
(b) 24.75
c) 28.5(

(d) 3.
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Q. 11) The average weight of 10 persons is increased by
3.5 kg, when one of them whose weight is 45.5 kg is

replaced by a new man. The weight (in kg) of the new

v man is :
.5 10 AfFTal &1 T T 3.5 1 9¢ a1 8, &9 399 4
35+ 4% Ka 45.5 f5un aw= ad ve @fed & =AW te a1 afe @
| ferar e 21 ¢ &fda &1 g ([P ) gl
. 70.5 —_
» go5'Y b
% I:Em(dns.s
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Ava cu+t — Q. 12) The average of 12 numbers is 47. The average of
= the first 5 numbers is 45 and the average of the next 4
7 5 |1 numbers is 52. If the 10th number is 10 less than the
' 11th number and is 5 more than the 12th number, then
Li ys what is the average value of the 11th and 12th numbers?
W3 o = 1zmaﬁmahmg_%|q3?ﬁsmaﬁmqﬁm55§
= 90 MY 3Tl 4 HWISHT BT 3fd 52 1 afg 108} H@, 11
L4 mﬁmﬁg‘_‘%aﬁnzﬁm_ﬁsm%ﬁnﬁﬁv
= 1241 Semsd &1 sftwa | g ——
KV N (a) 44.5
|0 W (b) 47.5
-5 (c) 42.5
y f.:f- Z_L_..—- (d) 46.5
), x+>£+|04—x-‘>‘+l_°’-‘—“17‘3 c
= ==, H“}‘k
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Q. 13) A fruit seller has 10 kg of apples and 5 kg of
grapes. The price of 1 kg of apples is Rs. 94.50 and that
of grapes is Rs. 105. He sold all the fruits with him. What
is the average amount (in Rs.) received by the fruit seller?

Bd fashar & a 10 fFar A9 3R 5 fFar R g1 1
Ly ot gmﬂaﬁaﬂm%ﬁﬁﬁnﬁfmﬁg
— 105 ¥4 g1 I R B a9 Ryl wa fagar #i
1o 5 UTe 3iTa IR (=0l ) §1d B -
- x a) 101.50 —
Qus® s (Grse
/ ﬁl (3)97.50
auws x
0
2) %
1 9

3
St
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i Q. 14) The average weight of a group of 15 students is 70

L= kg. Five more students of weight 65 kg, 68 kg, 45 kg, 77
kg and 62 kg join the group. What is the change in the

average welght (rounded off to the nearest integer) of

the grou —
LS 69 us 171 L2 15%’131 m\ﬁmmmﬁfm | 65 68
77

foam, 45 fm, 3T 62 fpur awi=
-5 -1 -5 -8 ¥ nfera %aﬁwm(ﬁwwwﬂﬁ
W\@' %ﬁ@mﬁm BAHTE? >
. sases by 2 ke zﬁfm ATIGI

(b) Decreases by 2 kg/2 P H Bl Sldl

g ¢) Increases by 1 k¢
/1:0 (d) Decreases by 1 kg/1 ﬁrmamam%
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Q. 15) The average of six numbers is 4. The average of
two of them is 3.5, while the average of the other two is

A ");‘L' a5 ;:.’ 7_\53_;_:1& las;.ltl\;a_;\%eragf %%1% rgalrnaa;‘mng two n% mbers?
+ /“s) a’taﬂaﬂwans%lirﬂﬂmaﬂmﬁaw%?

(a) 8.375

Yxb - 243 (b) 4.85

A
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G ¥l 2 2u 3 Q. 16) The average weight of Rohan and his three friends
S— is 62 kg. If Rohan's weight is 8 kg more than the av-

erage weight of his three friends, what is Rohan’s weight

ink
%lﬁgs)a%vm%ﬂwaw’fmmmszm%mﬁ
T Tl IUD_di9 gieal & 3fga Jo | 8 fbam

2, @l g4 &1 aud (fPar &) |1 82
(a) 60 -
b) 65
(d) 72
X 8
L got®
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Q. 17) The average monthly income of A and B is

O Rs.5,050, the average monthly income of B and C is
A +B = Sosoxz = o )00 Rs.6,250, and the average monthly income of A and C is
P o r . Rs.5,200. What is the sum of the monthly incomes (in
- (256% 2=) (2500 Rs.) of A, B and C?
B+C — o A 3R B ¥t 3ftwa wif¥® 3y 5,0 %,Bah?;ﬁ;g
- s pox- 0400 itwd wilie T 6,250 ¥UY B, IR A IR C

M %an%s;zm%ﬁ’%imsamcﬁmmm
(R NS R ol (2) 18000

’3/ - UL

- “‘Gm

(d) 11000
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A Q. 18) If the average score of a cricketer in three matches
& = 1) is 38 and in two other matches is 23, then what is the
3r38 = “ average score in all fi ve matches?

i uﬁ R g 3k
2x23 = U6 aﬂg';awﬁ?zs?. a’tm&maﬂ'agf ra
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Q. 20) The average weight of 40 students of a school is
52 kg. If the weight of the teacher is included, the

average weight rises by 500 grams. Find the weight (in

20 kg) of the teacher, " =
S+( _l,*l;ro) Rreera & 40 et @1 o ur 52 o 31 A
52 2 & BT WX AT S forar &g, at oitrd YR & 500 I
¥t 3f2 8 ot 21 g &1 wR (v ) 319 PR
= (a) 73.5 L
—» 51 (b) 71.5
5% c) 74.5
X s V’Q
(N/
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Q. 21) At a Yoga center, 60% of the members are men
and 40% of the members are women. If the average age
of the men is 55 years and the average age of the women
is 45 years, then what is the average age (in years) of all
the members?

g ¥y 7, 3R
o b e Al al e £ S o
3Tg 45 ¢ B, t Wit @ 3N g (@l F) FT 82
(a) 48

(b) 50
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Q. 22) Find the average of the prime numbers between
69 and 92.
69 MY 92 F &g A el JUT @M HT Awd

@3t J1d Sifee|

a) 82
c) 8C

(d) 81
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Q. 24) The average salary of all 40 employees including
35 non-teaching staff members of a school is Rs.4,000. If
th_é_?verage salary of llg_n-teachmg staff meml;ers is
Rs.4,200, find the average salary of the remaining staff of
the school.

faareag & 35 - i
Wmﬁﬁmm3sm4ﬁo$ﬁ§“§“ -
T BT T AT 4,200 FUA B, aiﬁzrrauarirwm
@1 3 Ad F1d ST

(a) Rs.2,800

b) Rs.2,300
(c) Rs.2,600
d) Rs.3,60C
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Q.25)IfAis % of C, and B is twice of A, and the average

of A. BandCis 30 then the dlfference between A and C

trf?.A CHT-8, B ADIG TATS 3R A, B 3R € &7 3
30 &, a’mfﬂc%ﬁmmaﬁl
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N
Q. 26) The average of three numbers a, b and c is 2 more

than c. The average of a and b is 48. 48. If d is 10 less than c,
then the average of c and d is:

c a9 "earsit &1 2 3P 81 a 3R b FT
a?mam%mﬁd c ¥ 10 PH 2, d 3N d BT 3N 71
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8 +8Y4 - 924 BS

6312 - 92 + 85
(
> (b5
2>

Q. 27) A team of 8 persons joins in a shooting
competition. The best marks- man scored 85 points. If he

had scored 92 points, The average score for the team
would have been 84. The number of points the team
scored was

8 aafeaal &1 s aa ﬁgnuﬁﬁﬁmﬁmﬁm%maﬁw
fEard) &t 85 3@ 21 afe I 92 9 ur e gl
a’rwmﬁmwﬁ?uﬁmltﬁmmmm
U 3% Iq12U|
A) 672
(C) 645
(D) 588
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Q. 29) The average of six numbers is 45.5. If a new
number is added then the new average becomes 47. Find

P
s @ e new number? L—
“?W g’tmaﬁ'aanﬁa%s%llmﬂmw T B | -
;- A)62 —
/T s
2 I, €) 54
(D) 5

VW fvee - DI “vd tAvaCl-u-% tO—{—"‘-“

3 Yss 4+ 1527

— Sb A""
% 0 lO.; \ /
UL D usse —

(
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- ~
| 82+ 17%6 - JIx6

—~—
| B2+ ¢(-\M)

Q. 30) The mean of 11 numbers is 182. If the mean of
first 6_numbers is 199 that of the last 6 numbers is 161
Find the sixth number.

11 @ &1 3ud 182 g1 uﬁtmsmaﬁtﬂam

9-193_3’Iamatﬁn6meﬂmah'ﬂa161 g1, af oadl
AT JTd $1 2
(A) 79

(D) 237
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'A‘qa c @' Q. 31) The mean of 19 numbers is_111. If the mean of

first 10 numbers is 82 and that of the last 10 numbers is
129. Find the 10th number. N
19 H@M3f BT ftwd 111 1 Al yUH 10 HWN 3t F1 oftwd

B TR . L GRS W W
- (A)O

(D) 2
=\l =)o

}A«
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Ava = 3 ‘ Q. 32) Average of 11 numbers is 36, whereas average of
a 9 of them is 34. If the remaining two numbers are in the

ratio of _2:3, find the value of the smallest number
(betyveen remaining two numbers). mv

11 SET13M BT T 36 8, TafP IT0 A 9 BT 34 B
mgmmmmz : 3 g1, O 9YwH SEn ([
54

tar’fﬁm & d19) BT HIH gd18U|

S1 90 |AI

_ (C) 45
e ®*
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Q. 33) The average of 28 numbers is 77. The average of
first 14 miinbers is 74 and the average of last 15 numbers
is 84. If the 14th number is excluded, then what is the
average of remaining numbers? (correct to one decimal
places)

28 T3 BT [T 77 T Ugel 14 FS3HT HT 39T 74

MR aifaw 15 F@ait &1 o 84 &1 1481 W= FI gl
W1 R QY G BT Ed (TP SUHAd RIH dP
RIGE 4

(A) 73.1

(B) 74.7

(C) 77

(D) 76.9
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Q. 34) There are 6 consecutive odd numbers. The

difference between the square of the average age of the
last three numbers and that of first three numbers is 288.

CL/ What is the largest odd number?
@ - = emﬁwmﬁgmeﬂwmﬁ$M$
~\4 a1 ud_sifaw o= sem &ﬁﬂaafaj_ﬂmggﬁél
o - M+Y - dfm R densg? —
(A) 31 =
Qo vre =
et | e
2 3\N + Q_ -288
Q. > MN+10 Lf'—:""") qﬁg-zﬂﬂ
(/ qﬁ'A—?}* ',ﬁ"
\ '€ 204 ~ LS
— / Vs Wi
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Q. 35) Three numbers are such that, first number is
double than that of second and half of third number. If

the average of all three numbers is 56, then what is the
difference between first and third number?

ERER < -6 e b o il
y |y .H’iﬂﬁ&ﬁ??ﬂﬂﬁmiﬂﬁ?%‘? -
= ~
q (»)) 4
= 2
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_ . Q Q. 36) The average of 11 numbers is 10.8. If the average

Ava = = of first 6 numbers is 10.4 and the average of last 6
numbers is 11.5, Then find out the middle (6th) number?

11 maﬂaslﬂ?ma 10.8 81 Tl Ugelt 6 H@M3M F1 3ftwd

1o.4aman%ﬁ6maﬁmaﬁaa’isaa’fﬁaaﬁ

-0-4xb + 0 F X6 "I (B3 &2
LR SRS
. by 9D o REX
1o-8 + (D) 15.5
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va - Q. 37) The average of 20 numbers is 12_If the average of
A a = I = first 12 numbers is 11 and the average of next 7 numbers

/—

is 10. Then ﬁnd out the last nu
20 FBATAT BT T 12 u's#?z?‘%maﬁmamn%
amaﬂ7maﬂ$raha1o%|3rﬁnma’ﬂﬂz
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-1S5S¥i0+3x+ (| =
) S5 SY
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\/3

Q. 38) The average of 8 numbers is 20. From these 8
numbers, the average of first 3 numbers is 15 and next 2
numbers _is 25. If sixth number is 4 Iess than that at_of
seventh number and 7 less than that of ei elghth number,

then what is the last number?

8maﬁmaﬁﬂazo%|sﬂﬁﬁmeﬂqmaha1s

amanﬂa’tmaﬂma?maz | gf B3t wEn wrad
HH 9UT AT | 7 FH B!, Ol a0 GST T8 ?

m ——

(B) 18

(C) 21

(D) 27

L -
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Q. 39) The average of eleven numbers is 68. The average
of the first four numbers is 78 and that of the next four
numbers is 63. The 9th number is two times the 11th
number and the 10th number is 4 less than the 11th
number. What is the average of the 9th and 11th

numbers?
rm%;i'@raﬂmaﬁ'ﬂass 21 Ugdl IR SEsit &1 fud
\bl 78 3T IR ATl IR B3 BT 39 63 21 9491 HET,
%’ 114 F@I | ST 8 3R 10d] H=m 114 d=n @ 4 34
pr 81 981 3z 118 Fr@naR 31 aitera 1@ RN
(A) 72.6
(B) 70.1
(C) 72.2

(D) 70.5
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[ %
T.—’. 4 _’_257(64- J\,'b
— T ———X
| -
="' é’%;

Q. 40) Liberty get profit 3% on 1/4 of invest and 5%
profit on 2/3 part of invest and get 11% on remaining
art of invest. Find the average profit on total invest.

%ﬂﬁmeq&ﬁw 3%mmamﬁ§, 3T
a"ﬁg‘g‘gﬂ’tw 5% WTH YT Bl & aul WY W 11% ATH
T 21 IS P Yol IR SHT ATH JTd PIOT ?
(A) 7%

(B) 3%
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Q. 41) 24 students collected money for donation. The
average contribution was Rs. 50. Later on, their teacher

also contributed some money. Now the average
contribution is Rs. 56. The teacher’s contribution is:

W4mﬁ§m$ﬁi’mq;?%mumww%_m

AT ISP I ¢ &1 arreE faan s

ﬂ%sewﬁw.&%mmey
(A)Rs. 106 ™

(B) Rs. 56
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r-
¢ — < (:__J__C
&

U’"‘ —s x+80

loo+ X+80 = %
__—

ze_'buo

e

Leue = 25

Q. 42) Out of Six persons, 5 persons spent 32 each for
their meal. The sixth one spent 80 more than the average

expenditure of all the six. The total money spent by all of
them was: —

_¢ afeadl 7 | 5 Afdd yd® @ W T 32 @9 Hval ¢l 6a
Afed Fd & 3Uam T 80 3ifUe @d Hvar g1 at
Al gRT @Y o U= J1d B |

—

(C) 260
(D) 274

(xu®

e
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Q. 43) 9 people went to a hotel for combined dinner. 8
people out of 9, spend 27 each on_dinner. 9th person
q*w spends 16 less than the average of all persons. Find the

?,'7.5 total expenditure on dinner.

/ o fa Bl | f3=R ¥ farw 72 98 & 8 afdwal ¥ a3

L i I TS ¢ 27 @d [$d d4T 9 d Afaq 7 9t aafaaal
/" %Wﬁnsmaﬂ%ﬁ,a’tmﬂ*mﬁmw

sz e
: (@225 |
(B)225

(C) 210
(D) 240
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VL\.\:\'«« = old Av + A~ Y- Torer

a 1%xx ~VFUz

L
b2 = 1% iz

Q. 44) There was_35 students in a hostel. The expenditure
per day is in- creased by ¥ 42 due to the entry of 7 new
students, while average expenditure per_student is
decreased by ¥ 1. What is the total expenditure on food

before the entry of new students?
S | EH W

DEENE | 35 91F 4 91
gmﬁuﬁﬁ#%aﬁﬁuz gl &l 8, wafe ufa

BT Ad @d 1 $H 8 iar ¢! 1 W) Uga ufafe
fPamrEd glarur— o
(A) 420

(o470 ]

(D) 425

@Gﬁ\q’
@
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Q. 45) A and B have their annual average income?
80,000. B and C have their annual average income ¥
75,000. € and A have their annual average income ¥

K ‘+ 6 = |/b O'DOD 78,000. The annual income of A is? .
. A 3R B &t aTfife Siiwrd 3ma 280,000 21 B 3R ¢ &t arffe
By c = 150,000 3fYed 3 ¥ 75,000 21_C AR A B aftfe Siwa Mg

- —— ¥78,000 21 A P} AP SNd AT TATZY 2

_ | S ,000 (A)unooo=
-
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Q. 46) The average salary of a person for the months of
February, March, April and May is ¥2,000 and that for the
months March, April, May and June is ¥ 3000. If his
salary for the month of June is ¥ 8000, then what is his
salary for the month of February? —

Ue Afed I B, HE, 30 3R 7S HIg &1 39d aa4
¥ 2000 7 3 AT, 309, HE 3R S HI§ &7 W da ¢
%%qoo?.l 1fg S HIg H1 3d< ¢ 8000 B, A B! HIg B

: ,50(
(C) ¥ 4,500
(D) ¥ 5,000
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Q. 47) In a certain year the average monthly income of a
person was 3400. For the first eight months of the year,
his average monthly income was ¥ 3160 and for the last
five months, It was T 4120. His income in the eighth
month of the year was

{5t af ue safda &t oftwa w1l oma ¢ 3400 Y1 39 o
& YU 8 # ISl fud AIS A T 3160 TUT

mswﬁiﬁmmmm@tﬁ)maﬁ

& ATSd Held | I9P! AT 4t ?
4+ 3600 A) ¥ 3160
2yo0 “\RP 7
> - (C) ¥15520
(D) ¥ 5520
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Q. 48) The average salary of 15 persons is ¥ 5,500. If the
salary of one person is added, the average increases to ¥
5700. What is the salary of this one persons ?

15 afeaal &1 3¥d a4 ¢ 5,500 21 gfe | safdy &1 39+
SIS STdT 8 o 3N9d 9e®T T 5700 81 9TdT 21 39 ofad &1
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Q. 49) The average monthly salary of all the employees in
a factory is 8840. If the average salary of all the officers

is ¥15000 and that of the remaining employees is ¥ 8000,
then what is the percentage of the officers among the

Q\.Hhh mpl ?
} %mﬁﬁmﬁmﬁﬁmmmtwo%uﬁ
Q At siftreiaY &1 ftd 399 15000 7 3T A9 HHARAl
| Sooo o0 $T MNTd da9 T 8000 & a HHAMA § eIl &7
N J wfaerd a8 2
&0 (3)9;!

\ d (08
e

1)) 11§-
1T

Ll ST ]

-~

o A
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Q. 50) Average age _of 10 persons increases by 2 years
when one person of age 40 year replaces by new person.

Find age of new person? gv
10 s A mzﬁﬁﬁm%mﬂaﬁ«qrg
e Afed & RIF W U 7971 Afed i« g <« g1

Lo 4+ K *¥\0 fie 81 IR afa 3 oy §1d B3 2
(A) 60
(B) 55
- 0 (C) 45
oy B2
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Q. 51) Average age of 15 persons is 35 years. 5 more
person joins the group, then average age decrease by 1.5

years Find ave;aﬁg;;g:r;fsss %%rso:l?s éﬁ[m a
ﬁm%a’raﬁ'ﬂaanm saﬁﬁwm%l 5 74 sfeaal

! IfTd AT JIa B T
(A) 33
(B) 34
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Q. 52) The average age of an adult class is 40 years. 12
new students with an average age of 32 years join the
class, thereby decreasing the average of the class by 4
years. Find the original strength of the class.

wa?&nﬁaa’faﬁahaa%mm%l 12 98 9= o=t

s Al | i 2 R T wen 2t
o e R e e
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Q. 53) The average age of a husband and wife, who were
married 7 years ago, was 25 years at the time of _their

marriage. Now, the average age of the family, including
husband, wife and a child, born during the_interval, is 22

years. What is the present age of the child?

ufa 3 v, o ay @I d
ﬁam%mzsaﬁﬁzgrlg;auggan%na%a ﬁgﬁ

?mﬁmmmmﬁgm Wt =fie @ 22 ad

dl 9= DL IdHE-3Tg JTd DL L
(A)dyrs. —

(D) 6 yrs.




MATHECMATICS By Pradeep Sir

Q. 55) A batsman has a certain average of runs for 12
innings. In the 13th inning he scores 96 runs thereby
increasing his average by 5 runs. What will be his
average after 13th inning?

et aetara & 12trrfgu’f$1wﬁf§aa?ma%l 13-df
Ut & a8 96 ¥ F4Ta1 ¢l o 9@ siwa # 5 31 @
gfS 8 STt 81 13 df Uit & a1g IS 3Ia T EII ?

(A) 28 —

(B) 32

(C) 36

(D) 42




MATHEMATICS By Pradeep Sir

Q. 56) A batsman has certain average of runs in 11
innings. He made 90 runs in 12th inning. As a result of

which the average of his runs decreased by 5. What is the
average of his runs after 12th inning?
U geidars &1 11 UGl # 391 &1 39 3twd g1 1241 urdt

\S, # I¥A 90 I F91¢ o Boaasq IUP I BT A 5
FHBI TN 12 TR F ag I A dr3fada gl =

@‘ (A) 140 —
/ (B) 145

(C) 150

(D) 145.5




MATHECMATICS By Pradeep Sir

Q. 57) A Cricket player scored certain runs in his 20
mn_g_s He scored 300 runs together in 21th and 22th

mmngs his average mc . by 2 runs. And average of 20 and
22 innings.

wﬁaﬁzomﬁwﬂm% gt 21 &t 3R
n 2 2241 UTl A T4 3 %g'ﬁtﬂﬁwaha = P
260 = LK olda.+ LI ST ) 208 7 224 maﬁ'\qamm’n —

— = (A)128:730
3 (B) 152 : 133
Sk = \2 (C) 160 : 162
- — (D) 174 : 176
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